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NDA 2 2022 — Mathematics - Part 3

Q)lan54° can be expressed as

() sSin9° + cos9° (b) siN9° — cos9°

Sin9° —cosY° sSin9° + cosY°
c0s9° + sin9° (d) Sin36°

COS9° — sin9° Cc0os 36°

(C)




NDA 2 2022 — Mathematics - Part 3

Q)lan54° can be expressed as

sin9° + cos9° s5iN9° — cos9°
(@) — (D) —
siN9° — cosY© sSin9° + cosY®
c0s9° + sin9° sin36°
(c) _ (d)
C0s9° —sin9° CcOSs 36°

Ans: (c)



NDA 2 2022 — Mathematics - Part 3

Q) What is J.a J{a-x) dx equal
0 f(x)+ fla=x)



NDA 2 2022 — Mathematics - Part 3

at 1s ’ fla—x) X equa
Q) What jﬁf(x)”(a_x)d qual

to?
(@) a (b) 2a
) 0 (d) g

Ans: (d)



NDA 2 2022 — Mathematics - Part 3

Q) Let sin x + siny = cos x + cosy for

all x, y € R. What is tan [E + %)

equal to?
(a) 1 (0) 2
(c) v2 (d) 242



NDA 2 2022 — Mathematics - Part 3

Q) Let sin x + siny = cos x + cosy for

all x, y € R. What is tan (E + l)

2 2
equal to?
(a) 1 (0) 2
(c) v2 (d) 242

Ans: (b)



NDA 2 2022 — Mathematics - Part 3

Q)What is the area of the region
enclosed between the curve y° = 2x

and the straight line y = x?

2 . 4 .
a) — sg unit (b) — s unit
()3 . )3 q
(c) lsq unit (d) 1 sg unit

3



NDA 2 2022 — Mathematics - Part 3

Q)What is the area of the region
enclosed between the curve y° = 2x

and the straight line y = x?

2 . 4 .

(a) = sg unit (b) — s unit
) 5 56 ) 5 54

(c) %sq unit (d) 1 sg unit

Ans: (a)



NDA 2 2022 — Mathematics - Part 3

Q) If y=(1+x)(1+x°) (1+x*) (1+x°)

(1+ x'®), then what is j—yat x=0
X

equal to?
(@) 0 (D) 1
() 2 (d) 4



NDA 2 2022 — Mathematics - Part 3

Q) If y=(1+x)(1+x°) (1+x*) (1+x°)

(1+ x'®), then what is d—yat x=0

dx
equal to?
(@) 0 (D) 1
() 2 (d) 4

Ans: (b)



NDA 2 2022 — Mathematics - Part 3

Q) What is C(47, 4) + C(51, 3) + C(50, 3)

+ C(49,3) + C(48,3) + C(47,3) equal
to?



NDA 2 2022 — Mathematics - Part 3

Q) What is C(47, 4) + C(51,3) + C(50, 3)

+ C(49,3) + C(48,3) + C(47,3) equal
to?

Ans: (c)



NDA 2 2022 — Mathematics - Part 3

Q) What is the value

1
2+ ?

2+

1
2+ ...00

@)v2 =1 (02 +1 (©3 (d)4

2+

of



NDA 2 2022 — Mathematics - Part 3

Q) What is the value

1
2+ ?

2+

1
2+ ...00

@)v2 =1 O)v2 +1 ()3 (d)4

2+

Ans: (b)

of



NDA 2 2022 — Mathematics - Part 3

Q) Let the equation sec x - cosec x = p
have a solution, where p is a
positive real number. What should
be the smallest value of p?

(@) = (b) 1

(d) Minimum does not exist



NDA 2 2022 — Mathematics - Part 3

Q) Let the equation sec x - cosec x = p
have a solution, where p is a
positive real number. What should
be the smallest value of p?

(@) = (b) 1

(d) Minimum does not exist

Ans: (c)



NDA 2 2022 — Mathematics - Part 3

Q)What is cot2x cot4x — cot4x cot6x — cot6x cot2x equal to?
(@) -1 (6) 0 () 1 (d) 2



NDA 2 2022 — Mathematics - Part 3

Q)What is cot2x cot4x — cot4x cot6x — cot6x cot2x equal to?
(@) -1 (6) 0 () 1 (d) 2

Ans: (c)



NDA 2 2022 — Mathematics - Part 3

a b c

Q) IfA=|d e f
g h i

then what is

3d +5g 4a+7g 6g

3e +5h 4b+7h 6h |equal to?
3f +5i 4c+7i 6i

(a) A (b) 7A
(c) 72A (d) — 72A
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a b c

Q) IfA=|d e f
g h i

then what is

3d +5g 4a+7g 6g

3e +5h 4b+7h 6h |equal to?
3f+5i 4c+7i 6

(a) A (b) 7A
(c) 72A (d) — 72A

Ans: (d)
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NDA 2 2022 — Mathematics - Part 3

Q)
What 1s the value of

{a) 4abc

{(b) 4a%bc

{c) 4a’h?c?
{d) - 4a%b*c?




NDA 2 2022 — Mathematics - Part 3

Q)
What 1s the value of

{a) 4abc

{(b) 4a%bc

{c) 4a’h?c?
{d) - 4a%b*c?

Ans: (c)




NDA 2 2022 — Mathematics - Part 3

Q) There are 3 coins in a box. One is a
two-headed coin; another is a fair
coin; and third is biased coin that
comes up heads 75% of time. When
one of the three coins is selected at
random and flipped, it shows heads.
What is the probability that it was

the two-headed coin? 0:20
@2 ) |

ff: g
(c) 5 (d) 5



NDA 2 2022 — Mathematics - Part 3

Q) There are 3 coins in a box. One is a
two-headed coin; another is a fair
coin; and third is biased coin that
comes up heads 75% of time. When
one of the three coins is selected at
random and flipped, it shows heads.
What is the probability that it was
the two-headed coin?



NDA 2 2022 — Mathematics - Part 3

Q'What is (1 + cot® — cosecO)

(1+ tan0 + secB) equal to?
(a) 1 (b) 2 (c) 3 (d) 4



NDA 2 2022 — Mathematics - Part 3

Q'What is (1 + cot® — cosecO)

(1+ tanB + secB) equal to?
(a) 1 (b) 2 (c) 3 (d) 4

Ans: (b)



NDA 2 2022 — Mathematics - Part 3

1 1

Q) The equation sin™ x —cos™ x=g- has

(@) no solution
(b) unique solution
(c) two solutions

(d) infinite number of solutions



NDA 2 2022 — Mathematics - Part 3

1 1

Q) The equation sin™* x —cos” x=-g has

(a) no solution
(b) unique solution
(c) two solutions

(d) infinite number of solutions

Ans: (b)



NDA 2 2022 — Mathematics - Part 3

1+ tan®® ~ (1 — tanﬁ)2

Q)What is
1+ cot’® \1-cotO

equal to?



NDA 2 2022 — Mathematics - Part 3

1+ tan’® (1 — 1:::11:1-9J2

Q)What is
1+ cot’0 \1-—cotO

equal to?

Ans: (a)



NDA 2 2022 — Mathematics - Part 3

QIf f(x)=e", then which one of the

following is correct?
(@) 1"(0) =1 (0) 77(0) = - 1
(c)f'(0)=0 (d) f"(0)does not exist



NDA 2 2022 — Mathematics - Part 3

QIf f(x)=e", then which one of the

following is correct?
(@) 1"(0) =1 (0) 77(0) = - 1
(c)f'(0)=0 (d) f"(0)does not exist

Ans: (d)



NDA 2 2022 — Mathematics - Part 3

Q) If f (x) = x In x, then f (x) attains minimum value at which one of the following
points?
(a) x=¢e?
(b)x=e€
(c)x=¢e
(d) x = 2e™



NDA 2 2022 — Mathematics - Part 3

Q) If f (x) = x In x, then f (x) attains minimum value at which one of the following
points?

(a) x=¢e?
(b)x=e€
(c)x=¢e
(d) x = 2e™

Ans: (c)



NDA 2 2022 — Mathematics - Part 3

QIf £(x)= .3 IS

X 1

where [ ] denotes the greatest

integer function, then what is the

right-hand limit of f(x)at x =17

(a) — 1

(b) 0

(c) 1

(d) Right-hand limit of f(x) at x = 1does
not exist



NDA 2 2022 — Mathematics - Part 3

QIf £(x)= .3 IS

X

where [ ] denotes the greatest

integer function, then what is the

right-hand limit of f(x)at x =17

(@) -1

(b) O

(c) 1

(d) Right-hand limit of f(x) at x = 1does
not exist

Ans: (c)



NDA 2 2022 — Mathematics - Part 3

Q)What is _[ dx equal to?

secx + tanx

(@) In(secx)+ In|secx + tanx| + C
(b) In(sec x) — In|sec x + tanx| + C
(c)secxtanx —In|secx — tanx| + C
(d)In|secx + tanx| —In|sec x| + C



NDA 2 2022 — Mathematics - Part 3

Q)What is _[ dx equal to?

secx + tan x

(@) In(secx)+ In|secx + tanx| + C
(b) In(sec x) — In|sec x + tanx| + C
(c)secxtanx —In|secx — tanx| + C
(d)In|sec x + tanx| — In|sec x| + C

Ans: (d)



NDA 2 2022 — Mathematics - Part 3

Q)If 7sin 0O + 24 cos O = 25, then what is

the value of (sin© + cos0)?

26 6 31
1 D) — — d) —
(@) ( )25 (C) 5 ( )25



NDA 2 2022 — Mathematics - Part 3

Q)If 7sin 0O + 24 cos O = 25, then what is

the value of (sin© + cos0)?

26 6 31
D) — — d) —
(@) 1 (}25 (0)5 (}25

Ans: (d)



NDA 2 2022 — Mathematics - Part 3

Q) Suppose 20 distinct points are
placed randomly on a circle. Which
of the following statements is/are
correct?

1. The number of straight lines that
can be drawn by joining any two
of these points is 380.

2. The number of triangles that can
be drawn by joining any three of
these points is 1140.

Select the correct answer using the

code given below.

(a) 1 only (b) 2 only

(c) Both1and 2 (d) Neither 1 nor 2



NDA 2 2022 — Mathematics - Part 3

Q) Suppose 20 distinct points are
placed randomly on a circle. Which
of the following statements is/are
correct?

1. The number of straight lines that
can be drawn by joining any two
of these points is 380.

2. The number of triangles that can
be drawn by joining any three of
these points is 1140.

Select the correct answer using the

code given below.

(a) 1 only (b) 2 only

(c) Both1and2 (d) Neither 1 nor 2

Ans: (b)
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Q)

If

da
—d

—d

- b

b
-b

a—b—-c
—a+b-c
—a—b+ec

(a#0,b#0,¢c #0)

—kabe =0

then what is the value of k?

(@) — 4
(c) 2

(b) — 2
(d) 4



NDA 2 2022 — Mathematics - Part 3

Q) a —-b a-b-c
Ifl—a b —a+b-c¢|—kabec=0
—a —-b —a-b+c

(a#0,b#0,¢c #0)

then what is the value of k?
(@) — 4 (b) -2

(c) 2 (d) 4

Ans: (a)
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NDA 2 2022 — Mathematics - Part 3

Q) The inverse of a matrix A is given

-2 1
by| 3 1

[ 2 2]
What is A equal to?

1 2 1 -2
a D
”h3 4] ”h—3 4]

3 -4

=

[E)1 2] (d)_1 2]



NDA 2 2022 — Mathematics - Part 3

Q) The inverse of a matrix A is given

-2 1
byl 3 _ 1

| 2 2]
What is A equal to?

1 2 1 =2
a b
{}LB 4] (}h_a 4]
(1 2 —1 2

C d
”_3 _4] (}_3 4]

Ans: (a)



NDA 2 2022 — Mathematics - Part 3

Q) The shadow of a tower is found to
be x metre longer, when the angle
of elevation of the sun changes
from 60° to 45°. If the height of the

tower is 5(3 + J3 ) m, then what is x

equal to?
(@ 8m (b) 10 m
(c)12m (d) 15 m



NDA 2 2022 — Mathematics - Part 3

Q) The shadow of a tower is found to
be x metre longer, when the angle
of elevation of the sun changes
from 60° to 45°. If the height of the

tower is 5(3 + xg} m, then what is x

E‘.(lIlFl] to?
(@) 8m (b) 10 m
(c)12m (d) 15 m

Ans: (b)



NDA 2 2022 — Mathematics - Part 3

Q) What is the value of the following?

tan31°tan33°tan35°...tan57°tan59°
(@) — 1 (b) 0 (c) 1

(d) 2
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Q) What is the value of the following?

tan31°tan33°tan35°...tan57°tan59°
(@) — 1 (b) 0 (c) 1

Ans: (c)

(d) 2



NDA 2 2022 — Mathematics - Part 3

Q)What is _[ dx equal to
x(1+ In x)"

(n #1)?

(a) 1 +C
(n—1)(1+Inx)"""

'~ ¢
1+ Inx) "

©) n+ 1 e
1+ Inx)"™

(d) - 1 r e

(n—1@+Inx)"""



NDA 2 2022 — Mathematics - Part 3

Q)What is I dx equal to

x(1+ In x)"

(n #1)?
’

@%n—nm+mxf*“+c

+ C

(d)

(- +Inx) !

Ans: (d)



NDA 2 2022 — Mathematics - Part 3

Q) What is the area of the region
bounded by |x| <5, y =0and y = 8?

(a) 40 sg units (b) 80 sqg units
(c) 120 sg units (d) 160 sq units



NDA 2 2022 — Mathematics - Part 3

Q) What is the area of the region
bounded by |x| <5, y =0and y = 8?

(a) 40 sg units (b) 80 sqg units
(c) 120 sg units (d) 160 sq units

Ans: (b)



NDA 2 2022 — Mathematics - Part 3

Q)If log,, 2log, 10 + log,,(10™) = 2,

then what is the value of x?
(@) 0 (b) 1
(c) log, 10 (d) logs 2



NDA 2 2022 — Mathematics - Part 3

Q)If log,,2log, 10 + log,,(10™ ) =2,

then what is the value of x?
(@) 0 (b) 1
(c) log, 10 (d) logs 2

Ans: (b)



NDA 2 2022 — Mathematics - Part 3

Q) For whapt value of k is the function

2x+l,x<0
4
f(x)=<k , x =0 continuous?
x+-—-1,x>0
_ 2
@+ ®1 ©1 (@2
4 2
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Q) For whapt value of k is the tunction

fx) =+

1
2x +—,x<0
4

k . x =0 continuous?

2
1

(x+) , x>0
_ 2

1
>



NDA 2 2022 — Mathematics - Part 3

Q) What is the acute angle between
the lines x —2=0and

J3x — y—2=07
(a) 0° (b) 30° (c)45°  (d)60°
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Q) What is the acute angle between
the lines x —2=0and

J3x — y—2=07
(a) 0° (b) 30°  (c)45°  (d) 60°

Ans: (b)



NDA 2 2022 — Mathematics - Part 3

Q)If the image of the point (— 4, 2) by
a line mirror is (4, — 2), then what is
the equation of the line mirror?

(@) y=x (0) y =2x
(C) 4y =x (d) y =4x



NDA 2 2022 — Mathematics - Part 3

Q)If the image of the point (— 4, 2) by
a line mirror is (4, — 2), then what is
the equation of the line mirror?
@y=x (b) y =2x
(C) 4y =x (d) y =4x

Ans: (b)



NDA 2 2022 — Mathematics - Part 3

Q How many real roots does the
equation x° + 3| x| + 2 = 0 have?

(@) Zero (b) One
(c) Two (d) Four
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Q) How many real roots does the
equation x° + 3| x| + 2 = 0 have?

(@) Zero (b) One
(c) Two (d) Four

Ans: (a)



NDA 2 2022 — Mathematics - Part 3

Q) What is the value of the following?

(3 (3
cot|sin ' = |+ cot™ | =
I 5 2

) J
(a) - (b) "
17

7 9%
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Q) What is the value of the following?

(3 (3
cot|sin ' = |+ cot™ | =
5 2

- —

6 7
2 b) L
(a) ]g ( )1g
(©) - (d) ry

Ans: (a)



NDA 2 2022 — Mathematics - Part 3

Q) If z =1 + i, where i = +/—1, then what is the modulus of

2
z+ =7
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Q) If z =1 + i, where i = +/—1, then what is the modulus of

2
z+ =7

Ans: (b)
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NDA 2 2022 — Mathematics - Part 3

Q) What is the scalar projection of
a=i-2j+konb=4i-4j+7k?
1
@f © @2 @

-7 = (d) =
9 9 (E)19 [)19
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Q) What is the scalar projection of
a=1-2]+konb=4i-4j+7k?

0 19 9 6

(a) /6 (0) — /6

-7 = (d) =
9 9 (E)19 ()19

Ans: (b)



NDA 2 2022 — Mathematics - Part 3

Q)Seven white balls and three black

balls are randomly placed in a row.
What is the probability that no two
black balls are placed adjacently?

7 8
a) — b) —
()15 ()15

11 13

— d) =
AT AT
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Q)Seven white balls and three black

balls are randomly placed in a row.
What is the probability that no two
black balls are placed adjacently?

/ 8
L p) 2.
(El)ﬁ ()13
. d) -2
(6)15 ()15

Ans: (a)



NDA 2 2022 — Mathematics - Part 3

QWhat is the derivative of e¢ with
respect to e*?

X

(a) e (b)e”
(c)e® e* (d) ee”



NDA 2 2022 — Mathematics - Part 3

QWhat is the derivative of e¢ with
respect to e*?

X

(a) e (b)e”
(c)e® e* (d) ee”

Ans: (a)
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(a) NG (0) NG

(c) /3 (d) 24/3
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Q)If14sin% 0 +10cos? 6 = 11 where

0°< 6 <90° then what is the value of
tan© +cotB ?

4 2
(@) 73 (b) 7
(c) /3 (d) 2/3

Ans: (a)
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Q) If the magnitude of the sum of two
non-zero vectors is equal to the
magnitude of their ditference, then
which one of the following is
correct?

(a) The vectors are parallel

(b) The vectors are perpendicular
(c) The vectors are anti-parallel

(d) The vectors must be unit vectors
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Q) If the magnitude of the sum of two
non-zero vectors is equal to the
magnitude of their ditference, then
which one of the following is
correct?

(a) The vectors are parallel

(b) The vectors are perpendicular
(c) The vectors are anti-parallel

(d) The vectors must be unit vectors

Ans: (b)
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Q) If A and B are two events such that

P(not A) = 1, P(not B) = kA and
10 10
P(A| B) =%, then what is P(B| A)
equal to?
11 9
a) — b) =
@) 14 ©) 14

1
- d) —
(0)4 ()2
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Q) If A and B are two events such that

P(not A) = 1, P(not B) = S and
10 10

P(A|B)= % then what is P(B| A)

Equaltﬂ?
11 9
— o)
(8)114 ()114
_ d) —
(0)4 ()2

Ans: (d)
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(@ (2, 10) ©) 2, 9)

() (3,9) (d) (4, 10)
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Q) A parallelogram has three
consecutive vertices (— 3, 4), (0, — 4)
and (5, 2).The fourth vertex is
(@ (2, 10) ©) 2, 9)

() (3,9) (d) (4, 10)

Ans: (a)
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Q) What is the derivative of
sin(ln x) + cos(In x) with respect to x

at x = e?
cos1— sinT sin1 — cos
(@) (o)
o o
cos1+ sint
(c) (d)0o

e
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Q) What is the derivative of
sin(ln x) + cos(In x) with respect to x

at x = e?
cos1— sint sinl — cos 1
(@) (o)
o o
cos1+ sint
(c) . (d)0o

Ans: (a)
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Q) What is the value of

Ans: (a)
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Q) Consider the following
1.sin* @ —sin® ©=cos* B —cos” O
2.sin*0+cos*O=1+2sin”Bcos” O
3.tan” 0 +tan” 6 = sec’0 — sec’0

Which of the above are identities?

(@) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only
(d)1,2and 3
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Q) Consider the following
1.sin* @ —sin® ©=cos* B —cos” O
2.sin*0+cos*O=1+2sin”Bcos” O
3.tan” 0 +tan” 6 = sec’0 — sec’0

Which of the above are identities?

(@) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only
(d)1,2and 3

Ans: (c)
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Q) What 1s the area of the parallelogram having diagonals
3i+]—2l:: and 1—33-}—41:;?
2) 5J§ square units
b) 445 square units
g’ 5./3 square units
d) 1542 square units



NDA 2 2022 — Mathematics - Part 3

Q) What 1s the area of the parallelogram having diagonals
3i+]—2k and i—3j+4k?

) 5./5 square units
d

b) 44/5 square units

. 5./3 square units

d) 1542 square units

Ans: (c)
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Q) What is -[; et {e08 %) gy equal to?
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3 1
Q) What is -[; et {e08 %) gy equal to?

faj -1
(b} O
fc} 1

(d) 2

Ans: (c)
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Q) For the data
3,5.1,6.5,9.5,.2,8, 6
the mean. median and mode are X, y and z respectively.
Which one of the following 1s correct?

(a) X=y=z (b) x=y=z
() X=z=y=zZ (d) xX=y=z



NDA 2 2022 — Mathematics - Part 3

Q) For the data
3,5.1,6.5,9.5,.2,8, 6
the mean. median and mode are X, y and z respectively.
Which one of the following 1s correct?

(a) X=V=Z (b) x=y=z
(c) X=Vy=2 (d) x=y=2

Ans: (d)



NDA 2 2022 — Mathematics - Part 3

Af A={x:0<x<2tand B={y:yis
a prime number}, then what is
A M Bequal to?
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Af A={x:0<x<2tand B={y:yis
a prime number}, then what is
A M Bequal to?

@¢ {1y ©{2+ (@ 11,2}

Ans: (c)
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Q) Two cards are drawn successively without replacement from a well shuffled pack of
52 cards. The probability of drawing two aces is
a) 1/26
b) 1/221
c) 4/223
d) 1/13
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Q) Two cards are drawn successively without replacement from a well shuffled pack of
52 cards. The probability of drawing two aces is
a) 1/26
b) 1/221
c) 4/223
d) 1/13

Ans: (b)
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Q) What is the number of diagonals of
an octagon?
(a) 48
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Q) What is the number of diagonals of
an octagon?

(a) 48

Ans: (d)
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Q)If a set A contains 3 elements and
another set B contains 6 elements,
then what is the minimum number
of elements that (A U B) can have?

(a) 3 (b) 6
(c) 8 (d) 9
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Q)If a set A contains 3 elements and
another set B contains 6 elements,
then what is the minimum number
of elements that (A U B) can have?

(@) 3 (0) 6
(c) 8 (d) 9

Ans: (b)



NDA 2 2022 — Mathematics - Part 3

Q) Consider the digits 3, 5, 7, 9. What
is the number of 5-digit numbers
formed by these digits in which
each of these four digits appears?
(a) 240 (b) 180
(c) 120 (d) 60
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Q) Consider the digits 3, 5, 7, 9. What
is the number of 5-digit numbers
formed by these digits in which
each of these four digits appears?
(a) 240 (b) 180
(c) 120 (d) 60

Ans: (a)
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Q) What is the value of the following

determinant?

cosC tan A 0
sin B 0 —tan A
0 sin B cos(C
(@) —
(b) D
(c)2tanAsin BsinC
(

d) -2 tan AsinBsinC
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Q) What is the value of the following

determinant?
cosC tan A 0

sin B 0 —tan A
0 sin B cosC

a) —
D) U

c)2tanAsin BsinC
d)—-2tan AsinBsinC

—— e e e

Ans: (b)
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Q)In a school, 50% students play cricket
and 40% play football. If 10% of
students play both the games, then
what per cent of students play
neither cricket nor football?

(@) 10% (b) 15% (c)20% (d) 25%
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Q)In a school, 50% students play cricket
and 40% play football. If 10% of

students play both the games, then
what per cent of students play
neither cricket nor football?

(@) 10% (b) 15% (c) 20% (d) 25%

Ans: (c)
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2sin”> O —sin O

Q) What is ,(0°<0<90°)

cos®—2cos” 6

equal to

(a) sin® (b) cos6
(c) tan® (d) cot6
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N I
Q) What is 2sin” 0 SIHB,(OG{:G{Q{JD)

cos®—2cos” 6

equal to
(@) sin® (b) cos6
(c) tanb (d) cotb

Ans: (c)
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Q) If the lines y + px =1land y — gx =2
are perpendicular, then which one of
the following is correct?

@ pg+1=0 b)p+g+1=0
€)pg-1=0 dp-qg+1=0
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Q) If the lines y + px =1land y — gx =2
are perpendicular, then which one of
the following is correct?

@ pg+1=0 b)p+g+1=0
€)pg —1=0 dp-qg+1=0

Ans: (c)



NDA 2 2022 — Mathematics - Part 3

Q)What is the fourth term of an AP of n
terms whose sum is n(n + 1)?

(@) 6 (b) 8
(c) 12 (d) 20
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Q)'What is the fourth term of an AP of n
terms whose sum is n(n + 1)?

(@) 6 (b) 8
(c) 12 (d) 20

Ans: (b)
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Q) What is the derivative of e* with

respect to x°?

X

(d) 2

ex X X ex

e
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Q) What is the derivative of e* with

respect to x°?

Ans: (a)
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Q)What is the degree of the following

differential equation?
d2
X = ‘j 1+ —J:
dx

1
2
3
D

(@)
(b)
(C

(

)
d)

egree is not defined
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Q)What is the degree of the following

differential equation?

dx*
(@) 1
(b) 2
(c) 3
(d) Degree is not defined

Ans: (b)
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Q)If x%, x, -8 are in AP, then which one

of the following is correct?
(a) xe{-2}

(b) xe {4

) xe{-2 4}

(d) X€ {_41 2}
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Q)If x2, x, -8 are in AP, then which one
of the following is correct?

(@) xe {-2}
(b) xe {4}
(c) xe{-2 4}

(d) X€ {_41 2}

Ans: (c)
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dx

sec’(tan”

Q'What is j equal to?

1 x)

(@sin'x + ¢ (b) tan™ x + ¢
(c)sec'x + C (d)cos™'x + ¢
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dx
Q'What is j . — equal to?
sec’(tan ~ x)
(@sin'x + ¢ (b) tan™ x + ¢
(c)sec'x + C (d)cos™'x + ¢

Ans: (b)
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